43522 ORoco—| Ersatzteilliste
43523 Replacement Parts

S5 Text Art-Nr. |2 §
1| Motor 85067 | 57
Motor
2 | Schraube M 2x6 85672 2
Screw M 2x6
3| Putier flach 88504 4
Buffer fiat
4 | Pulfer gewdlbt 88505 4
Buffer vaulted
5 | Radsatz mit Haltring 90025 | 18
Wheelset
6 | Radsatz 90026 | 16
Wheelset
7 | Glihlampe 93519 | 10
Light bulb
8 | Schneckendeckel 95177 4
Waorm cover
9 | Zuristbeutel 1 951493 24
Bag with accessories 1
10 | Zuristbeutel 2 95194 24
Bag with accessories 2
11 | Radkontaktesatz 97744 | 13
Wheel set
12 | Getriebesatz komplett 97746 | 24
Gear part assembly
13 | Lokrahmen fur 43522 97748 33
Loco frame for 43522
14 | Drehgestell komplett 97749 | 56
Bogie assembly
15 | Platine komplett 97751 40
Printed circuit assembly
16 | Blendensatz komplett a7752 15
Bogie set
17 | Schneckensatz 97753 | 24
Worm set
18 | Zahnradsatz 97754 20
Gear set
19 | Antriebssatz 97756 | 14
Drive set
20 | Lokrahmen fir 43523 97759 33
Loco frame for 43523
21 | Hattring 85602 | 17
Traction
22 | Schraube M 2x10 B5675 2
Screw M 2x10
23 | Kupplungshalter 95176 2
Coupling holder
Blatt 330/ 2

Page 330/ 2



